Filomat 35:15 (2021), 5227–5236 https://doi.org/10.2298/FIL2115227G



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# Certain Properties of Lupaş-Kantorovich Operators

### Vijay Gupta<sup>a</sup>

<sup>a</sup>Department of Mathematics Netaji Subhas University of Technology Sector 3 Dwarka, New Delhi 110078, India

**Abstract.** In the present paper we establish a link between the Lupaş operators and its Kantorovich type integral modification, by applying the methods of finite differences, also the difference between two operators is established in weighted spaces. Further, we consider a modification of the Kantorovich variant, which preserve the test functions  $e^{v_j x}$ , j = 1, 2 and estimate a Voronovskaja type convergence estimate.

#### 1. Introduction

In the recent years several problems concerning convergence of operators have been discussed by researchers, see for example [1], [2], [3], [4], [5], [10], [13] and [16] etc. In the recent book [12] a collection of moments of some operators is provided, based on different methods. A distinguished Romanian mathematician Alexandru Lupaş in [14] proposed an important discrete operator, which for  $x \ge 0, n \in \mathbb{N}$  is defined by

$$(L_n f)(x) = \sum_{k=0}^{\infty} l_k(nx) F_{n,k}(f) = \sum_{k=0}^{\infty} l_k(nx) f\left(\frac{k}{n}\right),\tag{1}$$

where

$$l_k(nx) = \frac{(nx)_k}{2^k \cdot k!} \cdot 2^{-nx}$$

and the rising factorial is given by  $(y)_m = \prod_{i=0}^{m-1} (y+i), m \ge 1; (y)_0 = 1$ . These operators are different from the other operators of exponential type (see [15]), as we can not find a function p(x), such that  $p(x)(L_n f)'(x) = n(L_n \psi_x^1 f), \psi_x^m = (e_1 - xe_0)^m, e_i(t) = t^i, i = 0, 1, 2, 3, ...,$  which is the necessary condition for an operator to be of exponential type. If we denote  $b^{F_{n,k}} = F_{n,k}(e_1) = \frac{k}{n}$ , then  $\mu_r^{F_{n,k}} = F_{n,k}(e_1 - e_0F_{n,k}(e_1))^r = 0$ .

**Remark 1.1.** Using the identity  $\frac{1}{(1-a)^{\beta}} = \sum_{k=0}^{\infty} \frac{(\beta)_k}{k!} a^k$ , |a| < 1, we have

$$L_n(e^{\lambda t}, x) = (2 - e^{\lambda/n})^{-nx}$$

Received: 07 January 2021; Revised: 02 March 2021; Accepted: 06 March 2021

Communicated by Hemen Dutta

<sup>2020</sup> Mathematics Subject Classification. Primary 41A25; Secondary 41A30

Keywords. Lupaş operators, moment generating function, backward difference operator, exponential type operators.

Email address: vijaygupta2001@hotmail.com, vijay@nsut.ac.in (Vijay Gupta)

which provides the moment generating function (abrv. m.g.f.) of the Lupaş operators, and if we denote the r-th order moment of the operators (1) are given by  $(L_n e_r)(x)$ ,  $e_r(t) = t^r$ , then, few moments are given by

$$(L_n e_0)(x) = 1$$
  

$$(L_n e_1)(x) = x$$
  

$$(L_n e_2)(x) = x^2 + \frac{2x}{n}$$
  

$$(L_n e_3)(x) = x^3 + \frac{6x^2}{n} + \frac{6x}{n^2}$$
  

$$(L_n e_4)(x) = x^4 + \frac{12x^3}{n} + \frac{36x^2}{n^2} + \frac{26x}{n^3}.$$

The Kantorovich variant of Lupaş operators defined by Agratini [6] is defined as follows:

$$(K_n f)(x) = \sum_{k=0}^{\infty} l_k(nx) G_{n,k}(f), x \ge 0$$
(2)

where

$$G_{n,k}(f) = n \int_{k/n}^{(k+1)/n} f(t) dt.$$

**Remark 1.2.** By simple computation, we have  $G_{n,k}(e_1) = \frac{2k+1}{2n}$  and

$$\begin{split} \mu_2^{G_{n,k}} &= G_{n,k} \left( e_1 - e_0 G_{n,k}(e_1) \right)^2 = \frac{1}{12n^2}, \\ \mu_6^{G_{n,k}} &= G_{n,k} \left( e_1 - e_0 G_{n,k}(e_1) \right)^6 \\ &= G_{n,k}(e_6) - 6G_{n,k}(e_5) G_{n,k}(e_1) + 15G_{n,k}(e_4) \left( G_{n,k}(e_1) \right)^2 - 20G_{n,k}(e_3) \left( G_{n,k}(e_1) \right)^3 \\ &+ 15G_{n,k}(e_2) \left( G_{n,k}(e_1) \right)^4 - 6G_{n,k}(e_1) \left( G_{n,k}(e_1) \right)^5 + G_{n,k}(e_0) \left( G_{n,k}(e_1) \right)^6 \\ &= \frac{\left( (k+1)^7 - k^7 \right)}{7n^6} - 6 \frac{\left( (k+1)^6 - k^6 \right)}{6n^5} \left( \frac{2k+1}{2n} \right) + 15 \frac{\left( (k+1)^5 - k^5 \right)}{5n^4} \left( \frac{2k+1}{2n} \right)^2 \\ &- 20 \frac{\left( (k+1)^4 - k^4 \right)}{4n^3} \left( \frac{2k+1}{2n} \right)^3 + 15 \frac{\left( (k+1)^3 - k^3 \right)}{3n^2} \left( \frac{2k+1}{2n} \right)^4 \\ &- 6 \frac{\left( (k+1)^2 - k^2 \right)}{2n} \left( \frac{2k+1}{2n} \right)^5 + \left( \frac{2k+1}{2n} \right)^6 \\ &= \frac{1}{448n^6}. \end{split}$$

**Remark 1.3.** By simple computation, the moment generating function of the Lupaş-Kantorovich operators (2) is given by

$$(K_n e^{At})(x) = \frac{n(e^{A/n}-1)}{A} \left(2-e^{A/n}\right)^{-nx}.$$

The r-th order moment of (2) satisfy

$$(K_n e_r)(x) = \left[\frac{\partial^r}{\partial \lambda^r} \frac{n(e^{\lambda/n} - 1)}{\lambda} \left(2 - e^{\lambda/n}\right)^{-nx}\right]_{\lambda = 0}.$$

Using this expression, some of the moments are given by

$$(K_n e_0)(x) = 1$$

$$(K_n e_1)(x) = x + \frac{1}{2n}$$

$$(K_n e_2)(x) = x^2 + \frac{3x}{n} + \frac{1}{3n^2}$$

$$(K_n e_3)(x) = x^3 + \frac{15x^2}{2n} + \frac{10x}{n^2} + \frac{1}{4n^3}$$

$$(K_n e_4)(x) = x^4 + \frac{14x^3}{n} + \frac{50x^2}{n^2} + \frac{43x}{n^3} + \frac{1}{5n^4}.$$

We may point out that there was a minor misprint in the first moment given in [6, pp. 48]. Also, it is seen from Remark 1.3 that the operators  $(K_n f)$  preserve only constant function.

The link between the Lupas operators (1) and its Kantorovich variant was not established earlier, as standard differential operator does not work for such operators. In the present article we establish a connection between the two operators, using the methods of finite differences. We also provide the difference between Lupaş operator and its Kantorovich variant. In the last section, we modify the Kantorovich variant in such a way that exponential functions are preserved and for such operators, we establish a Voronovskaja type convergence result.

### 2. Link between Lupaş and its Kantorovich variant

Theorem 2.1. We have the following link between Lupaş and its Kantorovich variant

$$(K_n f) = (\nabla \circ L_n \circ F), \tag{3}$$

where  $F(x) = n \int_0^x f(t) dt$ , and  $\nabla$  is the backward difference operator for the function f(nx) with unit step length.

*Proof.* Obviously, we have

and

$$\nabla 2^{-nx} = 2^{-nx} - 2^{-nx+1}.$$

 $\nabla(nx)_k = k(nx)_{k-1}$ 

Thus using the identity

$$\nabla(fg) = f(\nabla g) + g(\nabla f) - (\nabla f)(\nabla g),$$

we can write

$$\nabla((nx)_k 2^{-nx}) = (nx)_k (2^{-nx} - 2^{-nx+1}) + k(nx)_{k-1} 2^{-nx} - k(nx)_{k-1} (2^{-nx} - 2^{-nx+1})$$
  
=  $(nx)_k (2^{-nx} - 2^{-nx+1}) + k(nx)_{k-1} 2^{-nx+1}$   
=  $(nx)_k 2^{-nx} - 2^{-nx+1} [(nx)_k - k(nx)_{k-1}]$   
=  $2^{-nx+1} k(nx)_{k-1} - 2^{-nx} (nx)_k$ ,

implying

$$\nabla(l_k(nx)) = l_k(nx) - 2l_k(nx) + l_{k-1}(nx) = l_{k-1}(nx) - l_k(nx).$$

We start with

$$\begin{aligned} (\nabla \circ L_n \circ F)(x) &= \nabla \left( (L_n F)(x) \right) = \nabla \left( \sum_{k=0}^n l_k(nx) F\left(\frac{k}{n}\right) \right) \\ &= \sum_{k=0}^\infty (\nabla l_k(nx)) F\left(\frac{k}{n}\right) \\ &= \sum_{k=0}^\infty \left[ l_{k-1}(nx) - l_k(nx) \right] F\left(\frac{k}{n}\right) \\ &= \sum_{k=0}^\infty l_k(nx) \left( F\left(\frac{k+1}{n}\right) - F\left(\frac{k}{n}\right) \right) \\ &= n \sum_{k=0}^\infty l_k(nx) \int_{k/n}^{(k+1)/n} f(t) dt = (K_n f)(x). \end{aligned}$$

This completes the proof of the theorem.  $\Box$ 

**Remark 2.2.** Using the link between the backward difference  $\nabla$  with the unit step length and the differential operator *D*, in our Theorem 2.1,  $\nabla$  can be replaced by  $1 - e^{-D/n}$ .

**Remark 2.3.** *Here we provide the application of Theorem 2.1, to verify the link between two operators for calculating few moments. By (3) and applying Remark 1.1, we have* 

$$\begin{aligned} (\nabla \circ L_n \circ Fe_0)(x) &= \nabla \circ L_n \circ nx \\ &= \nabla \circ nx = nx - (nx - 1) = 1 = (K_n e_0)(x). \end{aligned}$$

Next, we have

$$\begin{aligned} (\nabla \circ L_n \circ Fe_1)(x) &= \nabla \circ L_n \circ \frac{nx^2}{2} \\ &= \frac{n}{2} \nabla \circ \left(x^2 + \frac{2x}{n}\right) \\ &= \frac{1}{2n} \left[n^2 x^2 - (nx - 1)^2\right] + \frac{1}{n} [nx - (nx - 1)] \\ &= x - \frac{1}{2n} + \frac{1}{n} = x + \frac{1}{2n} = (K_n e_1)(x). \end{aligned}$$

Also, we can write

$$\begin{aligned} (\nabla \circ L_n \circ Fe_2)(x) &= \nabla \circ L_n \circ \frac{nx^3}{3} \\ &= \frac{n}{3} \nabla \circ \left( x^3 + \frac{6x^2}{n} + \frac{6x}{n^2} \right) \\ &= \frac{1}{3n^2} \left[ n^3 x^3 - (nx-1)^3 \right] + \frac{2}{n^2} [n^2 x^2 - (nx-1)^2] + \frac{2}{n^2} [nx - (nx-1)] \\ &= x^2 + \frac{3x}{n} + \frac{1}{3n^2} = (K_n e_2)(x). \end{aligned}$$

*Thus by knowing the moments of Lupaş operators, one can find the other moments of Lupaş-Kantorovich operators in a similar manner.* 

## 3. Differences between Lupaş and its Kantorovich variant

Let  $B_2[0, \infty)$  be the set of all functions f defined on positive real line with some constant C(f) depending only on f, satisfying the condition  $|f(x)| \le C(f)(1 + x^2)$ . Let  $C_2[0, \infty) = C[0, \infty) \cap B_2[0, \infty)$  and by  $C_2^*[0, \infty)$ , we denote subspace of all continuous functions  $f \in B_2[0, \infty)$  for which  $\lim_{x \to \infty} |f(x)|(1 + x^2)^{-1} < \infty$ .

Following [7], [11] (see also [8]), the difference between  $L_n$  and  $K_n$  is given by:

**Theorem A.** Let  $f \in C_2[0, \infty)$  with  $f'' \in C_2^*[0, \infty)$ . Then

$$\left| (L_n - K_n)(f, x) \right| \le \frac{1}{2} \left\| f'' \right\|_2 \beta(x) + 8\Omega(f'', \delta_1) (1 + \beta(x)) + 16\Omega(f, \delta_2) (\gamma(x) + 1),$$

where

$$\beta(x) = \sum_{k=0}^{\infty} l_{n,k}(x) \left\{ \left( 1 + (F_{n,k}(e_1))^2 \right) \mu_2^{F_{n,k}} + \left( 1 + (G_{n,k}(e_1))^2 \right) \mu_2^{G_{n,k}} \right\},$$
  

$$\gamma(x) = \sum_{k=0}^{\infty} l_{n,k}(x) \left\{ 1 + ((FG)_{n,k}(e_1))^2 \right\},$$
  

$$\delta_1^4(x) = \sum_{k=0}^{\infty} l_{n,k}(x) \left\{ \left( 1 + (F_{n,k}(e_1))^2 \right) \mu_6^{F_{n,k}} + \left( 1 + (G_{n,k}(e_1))^2 \right) \mu_6^{G_{n,k}} \right\}$$

and

$$\delta_2^4(x) = \sum_{k=0}^{\infty} l_{n,k}(x) \left( 1 + \left( (FG)_{n,k}(e_1) \right)^2 \right) \left( F_{n,k}(e_1) - G_{n,k}(e_1) \right)^4,$$

where  $(FG)_{n,k}(e_1) = min\{F_{n,k}(e_1), G_{n,k}(e_1)\}$  we suppose that  $\delta_1(x) \le 1, \delta_2(x) \le 1$  and  $\Omega(f, \delta)$  is the weighted modulus of continuity given by

$$\Omega(f,\delta) = \sup_{|h| < \delta, x \in [0,\infty)} \frac{|f(x+h) - f(x)|}{(1+h^2)(1+x^2)},$$

for each  $f \in C_2[0, \infty)$ .

Quantitative estimates for differences of Lupaş operators and Lupaş-Kantorovich operators are given as:

**Theorem 3.1.** Let  $f \in C_2^*[0, \infty)$  with  $f'' \in C_2^*[0, \infty)$ . Then

$$\begin{aligned} \left| (L_n - K_n)(f, x) \right| &\leq \frac{1}{8} \left( \frac{x^2}{3n^2} + \frac{x}{n^3} + \frac{4n^2 + 1}{12n^4} \right) \|f''\|_2 \\ &+ 8 \left( 1 + \frac{x^2}{12n^2} + \frac{x}{4n^3} + \frac{4n^2 + 1}{48n^4} \right) \Omega \left( f'', \frac{x^2}{448n^6} + \frac{3x}{448n^7} + \frac{4n^2 + 1}{1792n^8} \right) \\ &+ 16 \left( x^2 + \frac{2x}{n} + 2 \right) \Omega \left( f, \frac{(x^2 + 1)}{16n^4} + \frac{x}{8n^5} \right). \end{aligned}$$

Proof. Using Remark 1.1 and Remark 1.2, we get

$$\begin{split} \beta(x) &= \sum_{k=0}^{\infty} l_{n,k}(x) \left\{ \left( 1 + \left( b^{F_{n,k}} \right)^2 \right) \mu_2^{F_{n,k}} + \left( 1 + \left( b^{G_{n,k}} \right)^2 \right) \mu_2^{G_{n,k}} \right\} \\ &= \sum_{k=0}^{\infty} l_{n,k}(x) \left( 1 + \left( \frac{2k+1}{2n} \right)^2 \right) \left( \frac{1}{12n^2} \right) \\ &= \frac{x^2}{12n^2} + \frac{x}{4n^3} + \frac{4n^2+1}{48n^4}, \end{split}$$

and  $b^{(FG)_{n,k}} = min\left\{\frac{k}{n}, \frac{2k+1}{2n}\right\} = \frac{k}{n}$ , thus

$$\begin{aligned} \gamma(x) &= \sum_{k=0}^{\infty} l_{n,k}(x) \left( 1 + \left( b^{(FG)_{n,k}} \right)^2 \right) \\ &= x^2 + \frac{2x}{n} + 1. \end{aligned}$$

Also

$$\begin{split} \delta_1^4(x) &= \sum_{k=0}^{\infty} l_{n,k}(x) \left\{ \left( 1 + \left( b^{F_{n,k}} \right)^2 \right) \mu_6^{F_{n,k}} + \left( 1 + \left( b^{G_{n,k}} \right)^2 \right) \mu_6^{G_{n,k}} \right\} \\ &= \sum_{k=0}^{\infty} l_{n,k}(x) \left( 1 + \left( \frac{2k+1}{2n} \right)^2 \right) \left( \frac{1}{448n^6} \right) \\ &= \frac{x^2}{448n^6} + \frac{3x}{448n^7} + \frac{4n^2+1}{1792n^8} \end{split}$$

and

$$\begin{split} \delta_2^4(x) &= \sum_{k=0}^{\infty} l_{n,k}(x) \left( 1 + \left( b^{(FG)_{n,k}} \right)^2 \right) \left( b^{F_{n,k}} - b^{G_{n,k}} \right)^4 \\ &= \sum_{k=0}^{\infty} l_{n,k}(x) \left( 1 + \left( \frac{k}{n} \right)^2 \right) \left( \frac{k}{n} - \frac{2k+1}{2n} \right)^4 \\ &= \frac{(x^2+1)}{16n^4} + \frac{x}{8n^5}. \end{split}$$

Arrange these terms as in Theorem A, we get the proof of the theorem.  $\Box$ 

Example 1. The following graph represents the difference between two operators.



Figure 1: The difference between  $(L_n f)$  (Blue) and  $(K_n f)$  (Red) for the function  $f = x^9 + x^3 + 3x^2$ . (Green) and n = 10.

# 4. Preservation of $e^{\nu jx}$ , j = 1, 2

In order to preserve exponential function, we start with the following form of Lupaş-Kantorovich operators

$$(\widehat{K}_n f)(x) = n \sum_{k=0}^{\infty} \frac{(nb_n(x))_k}{2^k \cdot k!} \cdot 2^{-nb_n(x)} \int_{k/n}^{(k+1)/n} f(t)dt$$
(4)

Suppose these operators preserve  $e^{vx}$ , then

$$\begin{aligned} (\widehat{K}_n e^{\nu t})(x) &= e^{\nu x} \quad = \quad n \sum_{k=0}^{\infty} \frac{(nb_n(x))_k}{2^k \cdot k!} \cdot 2^{-nb_n(x)} \int_{k/n}^{(k+1)/n} e^{\nu t} dt \\ &= \quad \frac{n(e^{\nu/n} - 1)}{\nu} \left(2 - e^{\nu/n}\right)^{-nb_n(x)}, \end{aligned}$$

implying

$$b_n(x) = \frac{\log n(e^{\nu/n} - 1) - \log \nu - \nu x}{n \log(2 - e^{\nu/n})}.$$

Obviously  $\lim_{n\to\infty} b_n(x) = x$ . Now based on this we define the following operators

$$(\widetilde{K}_n f)(x) = n \sum_{k=0}^{\infty} e^{\nu x} \frac{(nb_n(x))_k}{2^k \cdot k!} \cdot 2^{-nb_n(x)} \int_{k/n}^{(k+1)/n} e^{-\nu t} f(t) dt.$$
(5)

.

.

These operators (5) reproduce  $e^{\nu x}$  and  $e^{2\nu x}$ , but loose to preserve the constant function.

**Lemma 4.1.** Let v > 0, for each  $n \in N$  and  $x \in [0, \infty)$ , the following identities hold

$$\begin{split} \widetilde{K}_{n}(e_{0},x) &= e^{\nu x} \frac{n(1-e^{-\nu/n})}{\nu} \left(2-e^{-\nu/n}\right)^{\frac{\log \nu +\nu x - \log n(e^{\nu/n}-1)}{\log(2-e^{\nu/n})}}, \\ \widetilde{K}_{n}(e^{3\nu t},x) &= e^{\nu x} \frac{n(e^{2\nu/n}-1)}{2\nu} \left(2-e^{2\nu/n}\right)^{\frac{\log \nu +\nu x - \log n(e^{\nu/n}-1)}{\log(2-e^{\nu/n})}}, \\ \widetilde{K}_{n}(e^{4\nu t},x) &= e^{\nu x} \frac{n(e^{3\nu/n}-1)}{3\nu} \left(2-e^{3\nu/n}\right)^{\frac{\log \nu +\nu x - \log n(e^{\nu/n}-1)}{\log(2-e^{\nu/n})}}. \end{split}$$

*Proof.* By using Remark 1.3, we obtain

$$\widetilde{K}_{n}(e_{0}, x) = e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left(2 - e^{-\nu/n}\right)^{-nb_{n}(x)}$$
$$= e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left(2 - e^{-\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}}$$

Next

$$\widetilde{K}_{n}(e^{3\nu t}, x) = e^{\nu x} \frac{n(e^{2\nu/n} - 1)}{2\nu} \left(2 - e^{2\nu/n}\right)^{-nb_{n}(x)}$$
$$= e^{\nu x} \frac{n(e^{2\nu/n} - 1)}{2\nu} \left(2 - e^{2\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}}$$

Finally Next

$$\widetilde{K}_{n}(e^{4\nu t}, x) = e^{\nu x} \frac{n(e^{3\nu/n} - 1)}{3\nu} \left(2 - e^{3\nu/n}\right)^{-nb_{n}(x)}$$
$$= e^{\nu x} \frac{n(e^{3\nu/n} - 1)}{3\nu} \left(2 - e^{3\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}}.$$

**Remark 4.2.** Let us consider  $\exp_{v,x}(t) = e^{vt} - e^{vx}$ , then

$$\begin{split} \widetilde{K}_{n}(\exp^{1}_{\nu,x}(t),x) &= e^{\nu x} \left[ 1 - e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left( 2 - e^{-\nu/n} \right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} \right]. \\ \widetilde{K}_{n}(\exp^{2}_{\nu,x}(t),x) &= \widetilde{K}_{n}(e^{2\nu t},x) - 2e^{\nu x}\widetilde{K}_{n}(e^{\nu t},x) + e^{2\nu x}\widetilde{K}_{n}(e_{0},x) \\ &= e^{2\nu x} \left[ e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left( 2 - e^{-\nu/n} \right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} - 1 \right]. \end{split}$$

and

$$\begin{split} \widetilde{K}_{n}(\exp_{\nu,x}^{4}(t),x) &= \widetilde{K}_{n}(e^{4\nu t},x) - 4e^{\nu x}\widetilde{K}_{n}(e^{3\nu t},x) \\ &+ 6e^{2\nu x}\widetilde{K}_{n}(e^{2\nu t},x) - 4e^{3\nu x}\widetilde{K}_{n}(e^{\nu t},x) + e^{4\nu x}\widetilde{K}_{n}(e_{0},x) \\ &= e^{\nu x} \Big[ \frac{n(e^{3\nu/n}-1)}{3\nu} \left(2 - e^{3\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n}-1)}{\log(2 - e^{\nu/n})}} \\ &- 4e^{\nu x} \frac{n(e^{2\nu/n}-1)}{2\nu} \left(2 - e^{2\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n}-1)}{\log(2 - e^{\nu/n})}} \\ &+ 2e^{3\nu x} + e^{4\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left(2 - e^{-\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n}-1)}{\log(2 - e^{\nu/n})}} \Big]. \end{split}$$

Remark 4.3. By simple computation using the mathematical software, we have

$$\lim_{n \to \infty} n \left( e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left( 2 - e^{-\nu/n} \right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} - 1 \right) = 2\nu^2 x$$

and

$$\begin{split} \lim_{n \to \infty} n^2 \Big\{ e^{\nu x} \Big[ \frac{n(e^{3\nu/n} - 1)}{3\nu} \left( 2 - e^{3\nu/n} \right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} \\ - 4e^{\nu x} \frac{n(e^{2\nu/n} - 1)}{2\nu} \left( 2 - e^{2\nu/n} \right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} \\ + 2e^{3\nu x} + e^{4\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left( 2 - e^{-\nu/n} \right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} \Big] \Big\} = 0. \end{split}$$

The space  $C^*[0, \infty)$  is a small subspace of  $C[0, \infty)$  of real-valued continuous functions on  $x \ge 0$  where  $\lim_{x\to\infty} f(x)$  exists and is finite.

We consider for a fixed  $\nu > 0$  the exponential function  $\exp_{\nu}(t) = e^{\nu t}$  and its inverse  $\log_{\nu}$  is the logarithmic function with base  $e^{\nu}$ .

**Theorem 4.4.** If  $f \in C^*[0, \infty)$  has a second derivative at a point  $x \in (0, \infty)$ , then

$$\lim_{n\to\infty}n\left((\widetilde{K}_nf)(x)-f(x)\right)=2\nu^2xf(x)-3\nu xf'(x)+xf''(x).$$

*Proof.* By Taylor's theorem, we obtain

$$f(t) = (f \circ \log_{\nu})(e^{\nu t}) = (f \circ \log_{\nu})(e^{\nu x}) + (f \circ \log_{\nu})'(e^{\nu x}) \exp_{\nu,x}(t) + \frac{(f \circ \log_{\nu})''(e^{\nu x})}{2} \exp_{\nu,x}^{2}(t) + h_{x}(t) \exp_{\nu,x}^{2}(t),$$

where  $h_x(t) := h(e^{vt} - e^{vx})$  and h continuous function, which vanishes at 0. Applying the operator  $\tilde{L}_n$  and then evaluating at the point x, we get

$$(\widetilde{K}_n f)(x) = f(x) (\widetilde{K}_n e_0)(x) + (f \circ \log_v)' (e^{vx}) (\widetilde{K}_n \exp^1_{v,x}(t))(x) + \frac{(f \circ \log_v)'' (e^{vx})}{2} \widetilde{K}_n (\exp^2_{v,x}(t); x) + \widetilde{K}_n (h_x(t) \exp^2_{v,x}(t); x).$$

Since

$$\left(f \circ \log_{\nu}\right)'(e^{\nu x}) = e^{-\nu x}\nu^{-1}f'(x)$$

and

$$(f \circ \log_{\nu})''(e^{\nu x}) = e^{-2\nu x} (\nu^{-2} f''(x) - \nu^{-1} f'(x)),$$

we have

$$\begin{split} (\widetilde{K}_{n}f)(x) - f(x) &= f(x)\left((\widetilde{K}_{n}e_{0})(x) - 1\right) + e^{-\nu x} v^{-1} f'(x) (\widetilde{K}_{n} \exp^{1}_{\nu,x}(t))(x) \\ &+ \frac{e^{-2\nu x} \left(v^{-2} f''(x) - v^{-1} f'(x)\right)}{2} (\widetilde{K}_{n} \exp^{2}_{\nu,x}(t))(x) + (\widetilde{K}_{n}h_{x}(t) \exp^{2}_{\nu,x}(t))(x) \\ &= f(x) \left(e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left(2 - e^{-\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} - 1\right) \\ &+ e^{-\nu x} v^{-1} f'(x) e^{\nu x} \left[1 - e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left(2 - e^{-\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}}\right] \\ &+ \frac{e^{-2\nu x} \left(v^{-2} f''(x) - \nu^{-1} f'(x)\right)}{2} e^{2\nu x} \left[e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left(2 - e^{-\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} - 1\right] \\ &+ (\widetilde{K}_{n}h_{x}(t) \exp^{2}_{\nu,x}(t))(x) \\ &= \left(e^{\nu x} \frac{n(1 - e^{-\nu/n})}{\nu} \left(2 - e^{-\nu/n}\right)^{\frac{\log \nu + \nu x - \log n(e^{\nu/n} - 1)}{\log(2 - e^{\nu/n})}} - 1\right) \left[f(x) - \frac{3}{2\nu} f'(x) + \frac{1}{2\nu^{2}} f''(x)\right] \\ &+ (\widetilde{K}_{n}h_{x}(t) \exp^{2}_{\nu,x}(t))(x). \end{split}$$

Using Cauchy-Schwarz inequality, we can write

$$n\left|(\widetilde{K}_n h_x(t) \exp^2_{\nu, x}(t))(x)\right| \leq \sqrt{(\widetilde{K}_n h_x^2(t))(x)} \sqrt{n^2(\widetilde{K}_n \exp^4_{\nu, x}(t))(x)}.$$

Also, we have  $\lim_{n\to\infty} (\widetilde{K}_n h_x^2(t))(x) = h_x^2(x) = 0$ , by simple computations, it follows that:

$$\lim_{n\to\infty}n\left|(\widetilde{K}_nh_x(t)\exp^2_{\nu,x}(t))(x)\right|=0.$$

This completes the proof of the theorem.  $\Box$ 

Acknowledgements The author is thankful to the reviewers for their valuable comments leading to better presentation of the paper.

#### References

- U. Abel, V. Gupta, M. Ivan, On the rate of convergence of Baskakov-Kantorovich-Bézier operators for bounded variation functions, Rev. Anal. Numér. Théor. Approx. 31 (2) (2002), 123–133.
- [2] T. Acar, A. Aral, H. Gonska, On Szász-Mirakyan operators preserving e<sup>2ax</sup>, a > 0, Mediterr. J. Math. 14, 6 (2017). https://doi.org/10.1007/s00009-016-0804-7
- [3] F. Ozsarac, T. Acar, Reconstruction of Baskakov operators preserving some exponential functions, Mathematical Methods in the Applied Sciences, 42 (16)(2019), 5124–5132.
- [4] T. Acar, A Aral, I Raşa, Positive Linear Operators Preserving  $\tau$  and  $\tau^2$ , Constr. Math. Anal. 2 (3) (2019), 98–102.
- [5] T. Acar, A. Aral, D. Cárdenas-Morales, P. Garrancho, Szász-Mirakyan type operators which fix exponentials, Results Math. 72(3)(2017), 1393–1404.
- [6] O. Agratini, On a sequnce of linear and positive operators, Facta Univ. (NIS) Ser. Math. Inform. 14 (1999), 41-48.
- [7] A. Aral, D. Inoan, I. Rasa, On Differences of linear positive operators, Anal. Math. Phys. 9 (2019), 1227-1239.
- [8] V. Gupta, On differences of operators with applications to Szász Type operators, Revista de la Real Academia de Ciencias Exactas, Físicas y Naturales. Serie A. Matemáticas 113 (2019),2059–2071.
- [9] V. Gupta, Differences of Operators of Lupaş Type, Constr. Math. Anal. 1 (1) (2018), 9-14.
- [10] V. Gupta, A note on general family of operators preserving linear functions, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 113 (4)(2019), 3717–3725.
- [11] V. Gupta, D. Agarwal, T.M. Rassias, Quantitative Estimates for Differences of Baskakov-type Operators, Complex Anal. Oper. Theory 13(8) (2019), 4045-4064.
- [12] V. Gupta, M. T. Rassias, Moments of Linear Positive Operators and Approximation, Series: SpringerBriefs in Mathematics, Springer Nature Switzerland AG (2019). ISBN 978-3-030-19454-3
- [13] V. Gupta, G. Tachev, A Note on the Differences of Two Positive Linear Operators, Constr. Math. Anal. 2 (1) (2019), 1–7.
- [14] A. Lupaş, The approximation by some positive linear operators. In: Proceedings of the International Dortmund Meeting on Approximation Theory (M.W. Müller et al.,eds.), Akademie Verlag, Berlin, (1995), 201–229.
- [15] C. P. May, Saturation and inverse theorems for combinations of a class of exponential-type operators, Canad. J. Math. 28 (1976), 1224–1250.
- [16] C. Zhang, Z. Zhu, Preservation properties of the Baskakov-Kantorovich operators, Comput. Math. Appl. 57 (9)(2009), 1450–1455.